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QUESTION 1

You are asked to change the cable on interface fe-4/2/3. Which statement is correct? 

A. The cable is found on port 4, FPC 2, and slot 3. 

B. The cable is found on slot 2, port 3, and FPC 4. 

C. The cable is found on FPC 4, slot 3, and port 2. 

D. The cable is found on slot 2, FPC 3, and port 4. 

Correct Answer: B 

 

QUESTION 2

What is the default action for firewall filters? 

A. accept 

B. reject 

C. discard 

D. log 

Correct Answer: C 

 

QUESTION 3

What are three Application Layer protocols? (Choose three.) 

A. FTP 

B. HTTP 

C. TCP 

D. ATM 

E. DNS 

Correct Answer: ABE 

 

QUESTION 4

The IP address 10.1.1.1 belongs to which class of IP address space? 

A. Class A 
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B. Class B 

C. Class C 

D. Class D 

Correct Answer: A 

 

QUESTION 5

Which statement is true about the forwarding plane? 

A. It uses ASICs for increased performance. 

B. It is the intelligence of the platform. 

C. It maintains the routing tables. 

D. It is based on an x86 architecture. 

Correct Answer: A 
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